

"Vasile Alecsandri" University of Bacău
Faculty of Sciences
Scientific Studies and Research
Series Mathematics and Informatics
Vol. 28(2018), No. 1, 97-108

**A GENERAL FIXED POINT THEOREM FOR TWO
PAIRS OF MAPPINGS SATISFYING A
 ϕ - IMPLICIT RELATION IN 0 - COMPLETE
PARTIAL METRIC SPACES**

VALERIU POPA AND ALINA-MIHAELA PATRICIU

Abstract. In this paper a general fixed point theorem for two pairs of mappings satisfying a ϕ - implicit relation is proved. As application we obtain a fixed point theorem for a sequence of mappings in 0 - complete partial metric spaces, different by results from [24].

1. INTRODUCTION

In 1994, Matthews [16] introduced the concept of partial metric spaces as a part of the study of denotational semantics of dataflow networks and proved the Banach contraction principle in such spaces.

Recently, in [2], [5], [7], [13], [14], some fixed point theorems under various contractive conditions are proved.

Romaguera [21] introduced the notions of 0 - Cauchy sequence and 0 - complete partial metric spaces, proving some characterizations of partial metric spaces in terms of completeness and 0 - completeness.

Some fixed point theorems for mappings in 0 - complete partial metric spaces are proved in [4], [17], [8], [10], [23] and in other papers.

Keywords and phrases: fixed point, weakly compatible mappings, sequence of mappings, ϕ - implicit relation.

(2010) Mathematics Subject Classification: 54H25, 47H10.

In 1994, Pant [18] introduced the notion of R - weakly commutativity, which is equivalent to commutativity in coincidence points. In [12] is introduced the notion of weakly compatible mappings.

In [13] some fixed point theorems for weakly compatible mappings in partial metric spaces are proved.

Some classical fixed point theorems and common fixed point theorems in metric spaces have been unified considering a general condition by an implicit relation in [19], [20].

Some fixed point theorems for mappings satisfying implicit relations in partial metric spaces are proved in [9] - [11], [23].

In [6], Altun and Türkoglu introduced a new type of implicit relations satisfying a ϕ - maps.

The purpose of this paper is to prove a general fixed point theorem for two pairs of mappings satisfying a new type of ϕ - implicit relation in 0 - complete partial metric spaces including and a Hardy - Rogers type theorem.

As application, we prove a fixed point theorem for a sequence of mappings in 0 - complete partial metric spaces different by the result from [24].

2. PRELIMINARIES

Definition 2.1 ([16]). Let X be a nonempty set. A function $p : X \times X \rightarrow \mathbb{R}_+$ is said to be a partial metric on X if for every $x, y, z \in X$, the following conditions hold:

- $(P_1) : p(x, x) = p(y, y) = p(x, y)$ if and only if $x = y$,
- $(P_2) : p(x, x) \leq p(x, y)$,
- $(P_3) : p(x, y) = p(y, x)$,
- $(P_4) : p(x, z) \leq p(x, y) + p(y, z) - p(y, y)$.

The pair (X, p) is called a partial metric space.

If $p(x, y) = 0$ then by (P_1) and (P_2) , $x = y$, but the converse does not always hold.

Each partial metric p on X generates a T_0 - topology τ_p which has as base the family of open p - balls $\{B_p(x, \varepsilon) : x \in X \text{ and } \varepsilon > 0\}$, where $B_p(x, \varepsilon) = \{y \in X : p(x, y) \leq p(x, x) + \varepsilon\}$ for all $x \in X$ and $\varepsilon > 0$.

If p is a partial metric on X , then the function $d_p(x, y) = 2p(x, y) - p(x, x) - p(y, y)$ is a metric on X .

A sequence $\{x_n\}$ in a partial metric space (X, p) converges to a point $x \in X$ with respect to τ_p if and only if $\lim_{n \rightarrow \infty} p(x_n, x) = p(x, x)$.

Lemma 2.2 ([2], [14]). *Let (X, p) be a partial metric space and $\{x_n\}$ a sequence in X such that $x_n \rightarrow z$ as $n \rightarrow \infty$, where $p(z, z) = 0$. Then $\lim_{n \rightarrow \infty} p(x_n, y) = p(z, y)$ for all $y \in X$.*

Definition 2.3 ([16], [21]). a) A sequence $\{x_n\}$ in a partial metric space (X, p) is called Cauchy if $\lim_{n, m \rightarrow \infty} p(x_n, x_m)$ exists and is finite.
b) A partial metric space (X, p) is said to be complete if every Cauchy sequence in X converges with respect to τ_p to a point $x \in X$ such that $\lim_{n \rightarrow \infty} p(x_n, x) = p(x, x)$.
c) A sequence $\{x_n\}$ in a partial metric space (X, p) is called 0 - Cauchy if $\lim_{n, m \rightarrow \infty} p(x_n, x_m) = 0$.
d) A partial metric space (X, p) is said to be 0 - complete if every 0 - Cauchy sequence in X converges with respect to τ_p to a point $x \in X$ such that $p(x, x) = 0$.

Lemma 2.4 ([16], [21], [22]). *Let (X, p) be a partial metric space and $\{x_n\}$ be a sequence in X .*

- a) $\{x_n\}$ is a Cauchy sequence in (X, p) if and only if $\{x_n\}$ is a Cauchy sequence in metric space (X, d_p) .
- b) (X, p) is complete if and only if (X, d_p) is complete.
Further more, $\lim_{n \rightarrow \infty} d_p(x_n, x) = 0$ if and only if $p(x, x) = \lim_{n \rightarrow \infty} p(x_n, x) = \lim_{n, m \rightarrow \infty} p(x_n, x_m)$.
- c) Every 0 - Cauchy sequence in (X, p) is Cauchy in (X, d_p) .
- d) If (X, p) is complete, then is 0 - complete.

The converses of assertions c) and d) are not true.

Definition 2.5. A function $\varphi : [0, \infty) \rightarrow [0, \infty)$ is a ϕ - function, $\varphi \in \phi$ if φ is continuous, nondecreasing such that $\sum_{n=1}^{\infty} \varphi^n(t) < \infty$ for all $t > 0$ and $\varphi(0) = 0$.

Remark 2.6. *Since $\sum_{n=1}^{\infty} \varphi^n(t) < \infty$, $\lim_{n \rightarrow \infty} \varphi^n(t) = 0$, then as in [16], $\varphi(t) < t$, $\forall t > 0$.*

3. ϕ - IMPLICIT RELATIONS

Definition 3.1. Let \mathcal{F}_ϕ be the set of all continuous functions $F(t_1, \dots, t_6) : \mathbb{R}_+^6 \rightarrow \mathbb{R}$ such that:

- $(F_1) : F$ is nonincreasing in variables t_2, t_3, \dots, t_6 ,
 - $(F_2) : \text{There exists } \varphi \in \phi \text{ such that for all } u, v \geq 0$
 - $(F_{2a}) : F(u, v, v, u, u + v, v) \leq 0$
- and

$(F_{2b}) : F(u, v, u, v, v, u + v) \leq 0$
implies $u \leq \varphi(v)$.

In the following examples, the proofs of (F_1) are obviously.

Example 3.2. $F(t_1, \dots, t_6) = t_1 - at_2 - bt_3 - ct_4 - dt_5 - et_6$, where $a, b, c, d, e \geq 0$ and $a + b + c + 2d + 2e < 1$.

$(F_2) :$ Let $u, v \geq 0$ and $F(u, v, v, u, u + v, v) = u - av - bv - cu - d(u + v) - ev \leq 0$. If $u > v$, then $u[1 - (a + b + c + 2d + e)] \leq 0$, a contradiction. Hence, $u \leq v$ which implies $u \leq (a + b + c + 2d + e)v \leq (a + b + c + 2d + 2e)v$ and (F_2) is satisfied for $\varphi(t) = (a + b + c + 2d + 2e)t$.

Example 3.3. $F(t_1, \dots, t_6) = t_1 - k \max\{t_2, t_3, \dots, t_6\}$, where $k \in [0, \frac{1}{2})$.

$(F_2) :$ Let $u, v \geq 0$ and $F(u, v, v, u, u + v, v) = u - k(u + v) \leq 0$ which implies $u \leq \frac{k}{1-k}v$. Similarly, $F(u, v, u, v, v, u + v) \leq 0$ implies $u \leq \frac{k}{1-k}v$ and (F_2) is satisfied for $\varphi(t) = \frac{k}{1-k}t$.

Example 3.4. $F(t_1, \dots, t_6) = t_1 - k \max\{t_2, t_3, t_4, \frac{t_5+t_6}{3}\}$, where $k \in (0, 1)$.

$(F_2) :$ Let $u, v \geq 0$ and $F(u, v, v, u, u + v, v) = u - k \max\{u, v, \frac{2v+u}{3}\} \leq 0$. If $u > v$, then $u(1 - k) \leq 0$, a contradiction. Hence, $u \leq v$ which implies $u \leq kv$. Similarly, $F(u, v, u, v, v, u + v) \leq 0$ implies $u \leq kv$ and (F_2) is satisfied for $\varphi(t) = kt$.

Example 3.5. $F(t_1, \dots, t_6) = t_1 - \max\{at_2, b(t_3 + t_4), b(t_5 + t_6)\}$, where $a \in (0, 1)$ and $b \in [0, \frac{1}{3})$.

$(F_2) :$ Let $u, v \geq 0$ and $F(u, v, v, u, u + v, v) = u - \max\{av, b(v + 2u), b(u + 2v)\} \leq 0$. If $u > v$, then $u[1 - \max\{a, 3b\}] \leq 0$, a contradiction. Hence, $u \leq v$ which implies $u \leq \max\{a, 3b\}v$. Similarly, $F(u, v, u, v, v, u + v) \leq 0$ implies $u \leq \max\{a, 3b\}v$ and (F_2) is satisfied for $\varphi(t) = \max\{a, 3b\}t$.

Example 3.6. $F(t_1, \dots, t_6) = t_1^2 - a \max\{t_2^2, t_3^2, t_4^2\} - bt_5t_6$, where $a, b \geq 0$ and $a + 2b < 1$.

$(F_2) :$ Let $u, v \geq 0$ and $F(u, v, v, u, u + v, v) = u^2 - a \max\{u^2, v^2\} - bv(u + v) \leq 0$. If $u > v$, then $u^2[1 - (a + 2b)] \leq 0$, a contradiction. Hence, $u \leq v$ which implies $u \leq \sqrt{a + 2b}v$. Similarly, $F(u, v, u, v, v, u + v) \leq 0$ implies $u \leq \sqrt{a + 2b}v$ and (F_2) is satisfied for $\varphi(t) = \sqrt{a + 2b}t$.

Example 3.7. $F(t_1, \dots, t_6) = t_1 - \varphi(at_2 + bt_3 + ct_4 + dt_5 + et_6)$, where $a, b, c, d, e \geq 0$, $a + b + c + 2d + e < 1$ and $\varphi \in \phi$.

(F_2) : Let $u, v \geq 0$ and $F(u, v, v, u, u+v, v) = u - \varphi(av + bv + cu + d(u+v) + ev) \leq 0$. If $u > v$, then $u[1 - \varphi((a+b+c+2d+e)u)] \leq 0$, a contradiction. Hence, $u \leq v$ which implies $u \leq \varphi((a+b+c+2d+e)v) = \varphi(v)$. Similarly, $F(u, v, u, v, v, u+v) \leq 0$ implies $u \leq \varphi(v)$.

Example 3.8. $F(t_1, \dots, t_6) = t_1 - \varphi(\max\{t_2, t_3, t_4, \frac{t_5+t_6}{3}\})$, where $\varphi \in \phi$.

The proof is similar to the proof from Example 3.7.

4. MAIN RESULTS

Lemma 4.1 ([1]). Let f, g be weakly compatible mappings of a nonempty set X . If f and g have a unique point of coincidence $w = fx = gx$ for some $x \in X$, then w is the unique common fixed point of f and g .

Theorem 4.2. Let (X, p) be a partial metric space and A, B, S and T self mappings of X satisfying the condition

$$(4.1) \quad F \left(\begin{array}{c} p(Ax, By), p(Sx, Ty), p(Sx, Ax), \\ p(Ty, By), p(Sx, By), p(Ty, Ax) \end{array} \right) \leq 0$$

for all $x, y \in X$ and $F \in \mathcal{F}_\phi$.

If there exists $u, v \in X$ such that $Su = Au$ and $Tv = Bv$, then there exists $t \in X$ such that t is the unique point of coincidence of A and S , as well is the unique point of coincidence of B and T .

Proof. First we prove that $Su = Tv$. We suppose that $Su \neq Tv$. Then by (4.1) we get

$$(4.2) \quad F \left(\begin{array}{c} p(Au, Bv), p(Su, Tv), p(Su, Au), \\ p(Tv, Bv), p(Su, Bv), p(Tv, Au) \end{array} \right) \leq 0,$$

$$(4.3) \quad F \left(\begin{array}{c} p(Su, Tv), p(Su, Tv), p(Su, Su), \\ p(Tv, Tv), p(Su, Tv), p(Tv, Su) \end{array} \right) \leq 0.$$

By (P_2),

$$\begin{aligned} p(Su, Su) &\leq p(Su, Tv), \\ p(Tv, Tv) &\leq p(Su, Tv). \end{aligned}$$

By (F_1) we have

$$(4.4) \quad F \left(\begin{array}{c} p(Su, Tv), p(Su, Tv), p(Su, Tv), \\ p(Su, Tv), 2p(Su, Tv), p(Su, Tv) \end{array} \right) \leq 0$$

which implies

$$(4.5) \quad p(Su, Tv) \leq \varphi(p(Su, Tv)) < p(Su, Tv),$$

a contradiction. Hence, $p(Su, Tv) = 0$, i.e. $Su = Tv$. Therefore,

$$(4.6) \quad Au = Su = Tv = Bv = t$$

for some $t \in X$.

Assume that there exists $w \neq u$ such that $Aw = Sw \neq Au$. Then by (4.1) we obtain

$$(4.7) \quad F \left(\begin{array}{c} p(Aw, Bv), p(Sw, Tv), p(Sw, Aw), \\ p(Tv, Bv), p(Sw, Bv), p(Tv, Aw) \end{array} \right) \leq 0,$$

$$(4.8) \quad F \left(\begin{array}{c} p(Sw, Tv), p(Sw, Tv), p(Sw, Sw), \\ p(Tv, Tv), p(Sw, Tv), p(Tv, Sw) \end{array} \right) \leq 0.$$

By (P_2) ,

$$\begin{aligned} p(Sw, Sw) &\leq p(Sw, Tv), \\ p(Tv, Tv) &\leq p(Sw, Tv). \end{aligned}$$

By (F_1) we obtain

$$(4.9) \quad F \left(\begin{array}{c} p(Sw, Tv), p(Sw, Tv), p(Sw, Tv), \\ p(Sw, Tv), 2p(Sw, Tv), p(Sw, Tv) \end{array} \right) \leq 0.$$

By (F_{2a}) we obtain

$$(4.10) \quad p(Sw, Tv) \leq \varphi(p(Sw, Tv)) < p(Sw, Tv),$$

a contradiction if $\varphi(p(Sw, Tv)) > 0$. Hence

$$(4.11) \quad p(Sw, Tv) = 0,$$

which implies

$$(4.12) \quad Sw = Aw = Su = Au = Tv = Bv = t.$$

Hence t is the unique point of coincidence of A and S . Similarly, t is the unique point of coincidence of B and T . \square

Theorem 4.3. *Let (X, p) be a 0 - complete partial metric space and A, B, S and T be self mappings on X such that $A(X) \subset T(X)$, $B(X) \subset S(X)$ and the inequality (4.1) holds for all $x, y \in X$, where $F \in \mathcal{F}_\phi$. If one of $A(X), B(X), S(X), T(X)$ is closed then*

1) *A and S have a point of coincidence,*

2) *B and T have a point of coincidence.*

Moreover, if the pairs $\{A, B\}$ and $\{S, T\}$ are weakly compatible, then A, B, S and T have a unique common fixed point.

Proof. Let $x_0 \in X$ be an arbitrary, but fixed point in X . Since $A(X) \subset T(X)$, there exists $x_1 \in X$ such that $Tx_1 = Ax_0$. Since $B(X) \subset S(X)$, there exists $x_2 \in X$ such that $Sx_2 = Bx_1$. Continuing this process we construct sequences $\{x_n\}$ and $\{y_n\}$ in X defined by

$$(4.13) \quad y_{2n} = Tx_{2n+1} = Ax_{2n}, \quad y_{2n+1} = Sx_{2n+2} = Bx_{2n+1}, \quad n \in \mathbb{N}.$$

We prove that $\{y_n\}$ is a 0 - Cauchy sequence in (X, p) .

By (4.1) for $x = x_{2n}$ and $y = x_{2n+1}$ we have

$$(4.14) \quad F \left(\begin{array}{c} p(Ax_{2n}, Bx_{2n+1}), p(Sx_{2n}, Tx_{2n+1}), \\ p(Sx_{2n}, Ax_{2n}), p(Tx_{2n+1}, Bx_{2n+1}), \\ p(Sx_{2n}, Bx_{2n+1}), p(Tx_{2n+1}, Ax_{2n}) \end{array} \right) \leq 0,$$

$$(4.15) \quad F \left(\begin{array}{c} p(y_{2n}, y_{2n+1}), p(y_{2n-1}, y_{2n}), p(y_{2n-1}, y_{2n}), \\ p(y_{2n}, y_{2n+1}), p(y_{2n-1}, y_{2n+1}), p(y_{2n}, y_{2n}) \end{array} \right) \leq 0.$$

Since by (P_4) ,

$$(4.16) \quad p(y_{2n-1}, y_{2n+1}) \leq p(y_{2n-1}, y_{2n}) + p(y_{2n}, y_{2n+1})$$

and by (P_2) ,

$$(4.17) \quad p(y_{2n}, y_{2n}) \leq p(y_{2n-1}, y_{2n}),$$

then by (F_1) and (4.15) we obtain

$$(4.18) \quad F \left(\begin{array}{c} p(y_{2n}, y_{2n+1}), p(y_{2n-1}, y_{2n}), \\ p(y_{2n-1}, y_{2n}), p(y_{2n}, y_{2n+1}), \\ p(y_{2n-1}, y_{2n}) + p(y_{2n}, y_{2n+1}), p(y_{2n-1}, y_{2n}) \end{array} \right) \leq 0,$$

which implies by (F_{2a}) that

$$(4.19) \quad p(y_{2n}, y_{2n+1}) \leq \varphi(p(y_{2n-1}, y_{2n})).$$

Similarly, by (4.1) for $x = x_{2n+2}$ and $y = x_{2n+1}$ we obtain

$$(4.20) \quad F \left(\begin{array}{c} p(Ax_{2n+2}, Bx_{2n+1}), p(Sx_{2n+2}, Tx_{2n+1}), \\ p(Sx_{2n+2}, Ax_{2n+2}), p(Tx_{2n+1}, Bx_{2n+1}), \\ p(Sx_{2n+2}, Bx_{2n+1}), p(Tx_{2n+1}, Ax_{2n+2}) \end{array} \right) \leq 0,$$

$$(4.21) \quad F \left(\begin{array}{c} p(y_{2n+2}, y_{2n+1}), p(y_{2n+1}, y_{2n}), \\ p(y_{2n+1}, y_{2n+2}), p(y_{2n}, y_{2n+1}), \\ p(y_{2n+1}, y_{2n+1}), p(y_{2n}, y_{2n+2}) \end{array} \right) \leq 0.$$

Since by (P_4) ,

$$(4.22) \quad p(y_{2n}, y_{2n+2}) \leq p(y_{2n}, y_{2n+1}) + p(y_{2n+1}, y_{2n+2})$$

and by (P_2) ,

$$(4.23) \quad p(y_{2n+1}, y_{2n+1}) \leq p(y_{2n}, y_{2n+1}),$$

by (F_1) and (4.21) we obtain

$$(4.24) \quad F \begin{pmatrix} p(y_{2n+2}, y_{2n+1}), p(y_{2n}, y_{2n+1}), \\ p(y_{2n+2}, y_{2n+1}), p(y_{2n}, y_{2n+1}), \\ p(y_{2n}, y_{2n+1}), p(y_{2n+2}, y_{2n+1}) + p(y_{2n}, y_{2n+1}) \end{pmatrix} \leq 0.$$

By (F_{2b}) we obtain

$$(4.25) \quad \varphi(p(y_{2n+2}, y_{2n+1})) \leq \varphi(p(y_{2n}, y_{2n+1}))$$

which implies

$$(4.26) \quad p(y_n, y_{n+1}) \leq \varphi(p(y_{n-1}, y_n)) \leq \dots \leq \varphi^n(p(y_0, y_1)).$$

For $n, m \in \mathbb{N}$ with $m > n$ we obtain by (P_4) that

$$\begin{aligned} p(y_n, y_m) &\leq p(y_n, y_{n+1}) + p(y_{n+1}, y_{n+2}) + \dots + p(y_{m-1}, y_m) \\ &= \sum_{k=n}^{m-1} \varphi^k(p(y_0, y_1)). \end{aligned}$$

Since

$$(4.27) \quad \sum_{k=1}^{\infty} \varphi^k(p(y_0, y_1)) < \infty,$$

then

$$(4.28) \quad \lim_{n, m \rightarrow \infty} \sum_{k=n}^{m-1} \varphi^k(p(y_0, y_1)) = 0$$

and

$$(4.29) \quad \lim_{n, m \rightarrow \infty} p(y_n, y_m) = 0$$

and so $\{y_n\}$ is a 0 - Cauchy sequence in (X, p) . Since (X, p) is 0 - complete, then there exists $y \in X$ such that

$$(4.30) \quad p(y, y) = \lim_{n, m \rightarrow \infty} p(y_n, y_m) = \lim_{n \rightarrow \infty} p(y_n, y) = 0.$$

Hence

$$(4.31) \quad \lim_{n \rightarrow \infty} y_{2n} = \lim_{n \rightarrow \infty} y_{2n+1} = y.$$

Now we can suppose without loss of generality that $S(X)$ is a closed subset of (X, p) . Then there exists $u \in X$ such that $y = Su$.

By (4.1) with $x = u$ and $y = x_{2n+1}$ we have

$$(4.32) \quad F \left(\begin{array}{l} p(Au, Bx_{2n+1}), p(Su, Tx_{2n+1}), \\ p(Su, Au), p(Tx_{2n+1}, Bx_{2n+1}), \\ p(Su, Bx_{2n+1}), p(Tx_{2n+1}, Au) \end{array} \right) \leq 0,$$

$$(4.33) \quad F \left(\begin{array}{l} p(Au, y_{2n+1}), p(Su, y_{2n}), p(Su, Au), \\ p(y_{2n}, y_{2n+1}), p(Su, y_{2n+1}), p(y_{2n}, Au) \end{array} \right) \leq 0.$$

Letting n tends to infinity by Lemma 2.2 we obtain

$$(4.34) \quad F(p(Au, y), 0, p(Au, y), 0, 0, p(y, Au)) \leq 0.$$

By (F_{2b})

$$(4.35) \quad p(Au, y) \leq \varphi(0) = 0$$

which implies

$$(4.36) \quad y = Au = Su,$$

hence A and S have a coincidence point.

Since $A(X) \subset T(X)$, $y \in T(X)$, then there exists $v \in X$ such that $y = Tv$.

By (4.1) with $x = u$ and $y = x_{2n+1}$ we obtain

$$(4.37) \quad F \left(\begin{array}{l} p(Au, Bv), p(Su, Tv), p(Su, Au), \\ p(Tv, Bv), p(Su, Bv), p(Tv, Au) \end{array} \right) \leq 0,$$

$$(4.38) \quad F(p(y, Bv), 0, 0, p(y, Bv), p(y, Bv), 0) \leq 0.$$

By (F_{2a}) we have $p(y, Bv) = 0$, i.e. $y = Bv = Tv$ and B and T have a coincidence point. By Theorem 4.2, y is the unique point of coincidence of (A, S) and (B, T) . If (A, S) and (B, T) are weakly compatible, by Lemma 4.1, y is the unique common fixed point of A, B, S and T . \square

Remark 4.4. By Example 3.2 and Theorem 4.3 we obtain a theorem of Hardy - Rogers type.

For a function $f : X \rightarrow X$ we denote

$$\text{Fix}(f) = \{x \in X : x = fx\}.$$

Theorem 4.5. *Let A, B, S and T be self mappings of a partial metric space. If the inequality (4.2) holds for all $x, y \in X$, $F \in \mathcal{F}_\phi$, then*

$$(4.39) \quad [\text{Fix}(S) \cap \text{Fix}(T)] \cap \text{Fix}(A) = [\text{Fix}(S) \cap \text{Fix}(T)] \cap \text{Fix}(B).$$

Proof. Let $x \in [\text{Fix}(S) \cap \text{Fix}(T)] \cap \text{Fix}(A)$. Then, by (4.1) we have

$$(4.40) \quad F \left(\begin{array}{c} p(Ax, Bx), p(Sx, Tx), p(Sx, Ax), \\ p(Tx, Bx), p(Sx, Bx), p(Tx, Ax) \end{array} \right) \leq 0,$$

$$(4.41) \quad F \left(\begin{array}{c} p(x, Bx), p(x, x), p(x, x), \\ p(x, Bx), p(x, Bx), p(x, x) \end{array} \right) \leq 0.$$

By (P_2) ,

$$(4.42) \quad p(x, x) \leq p(x, Bx).$$

Then by (F_1) we have

$$(4.43) \quad F \left(\begin{array}{c} p(x, Bx), p(x, Bx), p(x, Bx), \\ p(x, Bx), 2p(x, Bx), p(x, Bx) \end{array} \right) \leq 0$$

which implies by (F_{2a}) that

$$(4.44) \quad p(x, Bx) \leq \varphi(p(x, Bx)) < p(x, Bx),$$

if $p(x, Bx) > 0$, a contradiction.

Hence $p(x, Bx) = 0$ and $x = Bx$. So,

$$(4.45) \quad [\text{Fix}(S) \cap \text{Fix}(T)] \cap \text{Fix}(A) \subset [\text{Fix}(S) \cap \text{Fix}(T)] \cap \text{Fix}(B).$$

Similarly,

$$(4.46) \quad [\text{Fix}(S) \cap \text{Fix}(T)] \cap \text{Fix}(B) \subset [\text{Fix}(S) \cap \text{Fix}(T)] \cap \text{Fix}(A).$$

□

Theorems 4.3 and 4.5 implies the following one.

Theorem 4.6. *Let S, T and $\{A_i\}_{i \in \mathbb{N}^*}$ be self mappings of a 0 - complete partial metric space such that*

- a) $A_2(X) \subset S(X)$ and $A_1(X) \subset T(X)$,
- b) one of $S(X)$ and $T(X)$ are closed,
- c) the pairs $\{A_1, S\}$ and $\{A_2, T\}$ are weakly compatible,
- d) the inequality

$$(4.47) \quad F \left(\begin{array}{c} p(A_i x, A_{i+1} y), p(Sx, Ty), p(Sx, A_i x), \\ p(Ty, A_{i+1} y), p(Sx, A_{i+1} y), p(Ty, A_i x) \end{array} \right) \leq 0$$

holds for all $x, y \in X, i \in \mathbb{N}^*$ and $F \in \mathcal{F}_\phi$.

Then S, T and $\{A_i\}_{i \in \mathbb{N}^*}$ have a unique common fixed point.

Remark 4.7. By Theorem 4.6 and Examples 3.2 - 3.8 we obtain new particular results.

REFERENCES

- [1] M. Abbas and B. E. Rhoades, **Common fixed point results for noncommuting mappings without continuity in generalized metric spaces**, Appl. Math. Comput., 215 (2009), 262 – 269.
- [2] T. Abdeljawad, E. Karapinar and K. Taş, **Existence and uniqueness of a common fixed point on a partial metric space**, Appl. Math. Lett., 24 (11) (2011), 1900 – 1904.
- [3] O. Acar, V. Berinde and I. Altun, **Fixed point theorems for Ćirić - type strong almost contractions on partial metric spaces**, J. Fixed Point Theory Appl., 12 (2013), 247 – 259.
- [4] A. E. B. Ahmad, Z. M. Fadail, V. C. Rajić and S. Radenović, **Nonlinear contractions in 0 - complete partial metric spaces**, Abstr. Appl. Anal., 2012 (2012), Article ID 451239.
- [5] I. Altun and H. Simsek, **Some fixed point theorems on dualistic metric spaces**, J. Adv. Math. Stud., 1 (2008), 1 – 8.
- [6] I. Altun and D. Türkoglu, **Some fixed point theorems for weakly compatible mappings satisfying an implicit relation**, Taiwanese J. Math., 13 (4) (2009), 1291 – 1304.
- [7] I. Altun, F. Sola and H. Simsek, **Generalized contractions on partial metric spaces**, Topology Appl., 157 (18) (2010), 2778 – 2785.
- [8] I. Altun and K. Sadarangani, **Fixed point theorems for generalized almost contractions in partial metric spaces**, Math. Sci., (2014), 8:122.
- [9] H. Aydi, M. Jelladi and E. Karapinar, **Common fixed points for generalized α - implicit contractions in partial metric spaces: consequences and application**, Rev. R. Acad. Cienc. Exactas Fís. Nat., Ser. A Mat., RACSAM, 109 (2) (2015), 367 – 384.
- [10] S. Gülyaz and E. Karapinar, **A coupled fixed point result in partially ordered partial metric spaces through implicit function**, Hacet. J. Math. Stat., 42 (4) (2013), 347 – 357.
- [11] S. Gülyaz, E. Karapinar and I. S. Yuce, **A coupled coincidence point theorem in partially ordered metric spaces with an implicit relation**, Fixed Point Theory, 2013:38 (2013).
- [12] G. Jungck, **Common fixed points for noncontinuous nonself maps on a nonnumeric space**, Far East J. Math. Sci., 4 (2) (1996), 195 – 215.
- [13] Z. Kadelburg, H. K. Nashine and S. Radenović, **Fixed point results under various contractive conditions in partial metric spaces**, Rev. R. Acad. Cienc. Exactas Fís. Nat., Ser. A Mat., RACSAM, 107 (2013), 241 – 256.
- [14] E. Karapinar and I. M. Erhan, **Fixed point theorems for operators on partial metric spaces**, Appl. Math. Lett., 24 (11) (2011), 1900 – 1904.

- [15] J. Matkowski, **Fixed point theorems with a contractive iterate at a point**, Proc. Am. Math. Soc., 62 (2) (1977), 344 – 348.
- [16] S. G. Matthews, **Partial metric topology**, Proc. 8th Summer Conference on General Topology and Applications, Ann. New York Acad. Sci. 728 (1994), 183 – 197.
- [17] H. K. Nashine, W. Sintunavarat, Z. Kadelburg and P. Kumam, **Fixed point theorems in orbitally 0 - complete partial metric spaces via rational contractive conditions**, Afr. Mat., 26 (5) (2015), 1121 – 1136.
- [18] R. P. Pant, **Common fixed points for noncommuting maps**, J. Math. Anal. Appl., 188 (1994), 436 – 440.
- [19] V. Popa, **Fixed point theorems for implicit contractive mappings**, Stud. Cercet. Științ., Ser. Mat., Univ. Bacău, 7 (1997), 129 – 133.
- [20] V. Popa, **Some fixed point theorems for compatible mappings satisfying an implicit relation**, Demonstr. Math., 32, 1 (1999), 159 – 163.
- [21] S. Romaguera, **A Kirk type characterization of completeness for partial metric spaces**, Fixed Point Theory Appl., 2010:493298 (2010).
- [22] S. Romaguera, **Matkowski's type theorems for generalized contractions on (ordered) partial metric spaces**, Appl. Gen. Topol., 12, 2 (2011), 213 - 220.
- [23] C. Vetro and F. Vetro, **Common fixed points of mappings satisfying implicit relations in partial metric spaces**, J. Nonlinear Sci. Appl., 6 (2013), 152 – 161.
- [24] T. R. Vijayan and M. Marudai, **Common fixed points theorems for sequences on mappings under partial metric spaces**, Indian J. Appl. Res., 3 (9) (2013), 66 – 68.

“Vasile Alecsandri” University of Bacău,
 157 Calea Mărășești, Bacău, 600115, ROMANIA
 E-mail address: vpopa@ub.ro

“Dunărea de Jos” University of Galați,
 Faculty of Sciences and Environment,
 Department of Mathematics and Computer Sciences,
 111 Domnească Street, Galați, 800201, ROMANIA
 E-mail address: Alina.Patriciu@ugal.ro